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7 A
15 | % AR5 AR5 A3 T 1 8BS | BIE | wiAmk BT 4E 5 b
(BE) Y | BmH &% HE = [ hE | W& | Em | @ | @ | ms | Bm | ms | B
5 5 FH ke| % ke FM M F@| FA@| FA| Al FA M
FiBE OK)|ES [250kgll T 5 4 1,426 954 80% 239 357 1,495  391| 321] 126/ 362] 60| 275
251~300 102| 94 51,191 27,082| 92% 288| 545 1,890  776| 303| -39 -142| -207| -745
301~350 533|  514|  352,053|  168,477| 96%| 328| 685  2,090| 1,068] 290| -10] 34| -149| -469
351~ 275|  268]  207.096 99,451| 97% 371| 773 2,082 1.113] 414] 17 54| -108 -299
E it 15| 880]  611,766| 295,064 96% 336 695 2,067 1,113] 290 -6 -14] -135] -452
$H3 |250kg LT 14 14 5, 558 3,340] 100%| 239] 397]  1,664] 528] 318] -81] -349] 211 -885
251~300 211]  202] 110,252 57,103| 96% 283| 546  1,931|  919| 361| 17| 62| -167] 608
301~350 364 353|  219,132| 113,685 97%| 322) 621 1,928 1,154 366| 1|  -4| -140] -440
351~ 85| 83 56,817 30.552| 98% 368 685 1,860 1,221| 465| -4 30| -85 230
i &+ 674  652] 301,759 204,680 97%| 314 601  1,914] 1,221] 318] -3] -33| -139| -489
T - B 125| 123 56, 585 98% 460 1,453 114] 3 71
i iE st 1,714 1,655] 1,060,110 97% 641 1,453 114] -7 ~141
+8% =B [250kglL T 4 4 1, 241 971 100% 243[ 310]  1,278]  452] 182 26| 83| -174] -745
251~300 138] 111 59, 857 31,815| 80% 287| 530  1,881| 773| 64| -4 15| -191] 680
301~350 732|  641|  434,448] 208,816 88%| 326| 678 2,081 1,022| 226| 14| 52| -144| -451
351~ 312  290|  210,537]  107.428| 93%| 370, 726  1.960| 1,090] 275| 27| 84| -128] -358
E it 1,186] 1,046]  706,083|  349,030] 88% 334| 675 2,023| 1,000 64| 14 60| -136 -459
H3 |250kg LT 16 12 4,836 2,913] 75%| 243] 403]  1,660] 494 209] 2 o| -122] -536
251~300 250| 235 120,105 66.671| 91% 284/ 511 1.801| 936 330] -7 22| -189| -666
301~350 525| 486  285,201| 156,701 93%| 322| 587 1,820 1,225 422| 2| 15| -173] -554
351~ 88| 85 51, 850 30.918] 97% 364| 610  1.677| 779| 285| 4 14| -175 466
i 888] 818]  461,992|  257,203] 92% 314| 565  1,796| 1,225 285 3] 5| -170| -584
R - B 142] 138 53, 584 97% 388 1.663] 63 5 -135
+ st 2,216 2,002] 1,221, 659 90% 610 1,663 63 5 ~151
it8 =B [250kglL T 1 0 0 0 of o o o o o
251~300 25 18 10, 131 5,175 72%| 288] 563  1,958| 660 440| 27| 91| -141] -528
301~350 134 123 80, 387 40,554 92%| 330/ 654  1,982| 818] 505| 13| 12| -160/ -506
351~ 106 98 68, 539 36.874| 92%| 376/ 699  1.859| 862| 570 9 36| -163 -457
=it 266 239| 159,057 82,603] 90%| 346 666  1,926] 862 440 15 32| -153 -491
$H3 |250kg LT 7 4 1,843 982| 57% 246] 461]  1,877] 552[ 391] 58] 175] 88 -444
251~300 39| 34 18, 899 9,780 87% 288] 556]  1,932|  701| 282 5| 12| -150| -545
301~350 92 86 53,011 27,501 93%| 321| 616 1.921| 738 470| -7 -3 -143] -436
351~ 24 2 12, 849 7.777] 88%| 370| 612  1.652] 752| 480] 12| 35| -154| -453
i &+ 162] 145 86, 602 46,130 90%| 318] 597  1,877| 752| 282( 4] 7| -141] -482
I - B 49| 43 17. 620 88% 410 1,547 121] 118 42
R 5t 4771] _ 4271] 263,279 90% 617 1,547 121 12 ~138
&3t £ |250kgl T 10 8 2, 667 1,925| 80%| 241| 333]  1,385] 452| 182] 76| 219 -130| -562
251~300 265  223] 121,179 64,072| 84%| 287| 543  1,891| 776] 64| -17 62| -195] 697
301~350 1,399 1,278| 866,888  417,847| 91%| 327| 678 2,075 1,068] 226 3 o| -148] -465
351~ 693|  656]  486.172|  243,753| 95%| 372( 741 1,995 1.113] 275] 19| 61| -126 -351
LSt 2,367 2,165| 1,476,906]  727,597| 91% 336 682 2,030 1,113] 64| 5 22| -138 -461
HF |250kgLl T 37] 30 12, 237 7,235] 814 241] 408]  1,691] 552] 209] -46] -207| -157) -679
251~300 509|  471|  249,256] 133,554 93%| 284 520/  1,866] 936| 282| 12| 45| -177| -631
301~350 981|  925|  557,344]  207,977| 94%| 322| 603  1,870| 1,225 366] 0 8 -158] 499
351~ 197| 189  121.516 69,247| 96%| 366 643  1,755] 1,221 285 70 15| 134 -363
i &+ 1,724 1,615  940,353|  508,013] 94%| 315 582  1,851| 1,225| 282 -3| 9| -155| -536
R - B 316]  304]  127.789 06% 420 1,663 63 9 -89
&t 4,407] 4,084 2 545 048 93% 623 1,663 63 0 ~146
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£i15 | BR5E AR5T BR5E BLiL Y = | =IE B A *f EE BIISE %t Lk
(F1) BR¥L | B L] RE x| KE |\ X s | 4 | A% | Bl | fiis | B
L] L] FH kg % kg, FH M FAH| FH| FH M FH M
mibiEE (%) |EE  [250kg AT 1 0 0 0 0 0 0 0 0 0
251~300 2 0 0 0 0 0 0 0 0 0
301~350 17 11 3, 253 3,678] 65% 334 296 884 404 39| -33] -119] -122| -401
351~ 13 10 3,907 3,663 77% 366] 391 1,067 418 330 9 32) -23] 49
=St 33 21 1,160 7,341] 64%| 350 341 975 418 39 13 47 -77] -246
9 |250kgLLF 0 0 0 0 0 0 0 0 0 0
251~300 44 18 5, 583 5,324 41% 296] 310 1,049 339| 278 14 311 -97| -345
301~350 2717 237 18, 966 17,211)  86%| 326] 333 1,023 4371 129 4 17] -83] -270
351~ 69 63 22,932 22,994] 91%| 365 364 997 433| 314 11 41 61 -165
h &t 390 318 107, 481 105,529] 82% 332 338 1,018 437 129 5 25| -78 -271
e - EA 4 4 1,810 100% 453 564| 260 0 194
it Bt 421 343 116, 451 80% 340 564 39 ) —14
+ B EZ  |250kgLLF 0 0 0 0 0 0 0 0 0 0
251~300 123 101 317, 506 29,628) 82%| 293 311 1,266 410 306 3 17 -125] -426
301~350 1,036 951 389, 128 311,017)  92%| 327) 409 1, 251 951| 244 6 17 -112] -355
351~ 289 267 116, 887 98,538 92%| 369 438 1,186 550| 296 6 15| -100] -289
=St 1,448 1,319 543, 521 439,183] 91%| 333 412 1,238 551 244 4 19] -110] -351
9 |250kgLLF 0 0 0 0 0 0 0 0 0 0
251~300 210 169 52, 609 49,611] 80% 294, 311 1,060 415 201 -5 -18] -115] -404
301~350 1,131 1,061 361, 676 342,095] 94%| 322) 341 1,057 460 176 5 17 -111] -350
351~ 101 99 36, 798 35,877| 98%| 362| 372 1,026 451 217 5 22) -105] -292
h &t 1,442) 1,329 451, 083 427,583| 92%| 322] 339 1, 055 460| 176 2 17] -109] -359
e - A 24 17 10, 508 11% 618 683] 204 -25 -139
T+ 2,914 2,665 1,009,112 91% 3717 683 176 1 -109
R £ |250kgLL T 0 0 0 0 0 0 0 0 0 0
251~300 14 6 2,058 1,761 43% 294] 343 1,169 364| 327 -22, -65| -147| -48]
301~350 179 152 58, 491 50,076 85%| 329| 385 1,168 430 331 -1 -4 -128]| -376
351~ 16 66 26, 557 24,224 87%| 367 402 1,096 440| 361 -0 1| -128] -342
LSt 269 224 87,106 76,061| 83% 340 389 1,145 440| 327 -1 -b| -134] -340
69 [250kgLF 0 0 0 0 0 0 0 0 0 0
251~300 41 30 9, 644 8,757| 13% 292, 321 1,101 352| 276 16 511  -98] -339
301~350 244 199 69, 254 64,685 82%| 325| 348 1,071 407] 306 17 95| -92| -280
351~ 59 55 19, 896 20,563| 93%| 374| 362 968 421] 343 17 34 91| -263
h &t 344 284 98, 794 94,005 83% 331 348 1, 051 421 276 17 51 -94| -269
e - A 1 1 361 100% 361 361] 361 0 0
=&t 614 909 186, 261 83% 366 440| 276 11 =112
aEt £ |250kgLL T 1 0 0 0 0 0 0 0
251~300 139 107 39, 564 31,389  77%| 293| 370 1,260 410 306 3 17 -126] -429
301~350 1,232 1,114 450, 872 364, 771]  90%| 327) 405 1,236 951 39 5 14| -115] -360
351~ 378 343 147, 351 126,425 91% 369 430 1,166 550| 296 5 12| -102] -285
LSt 1,750 1,564 637, 7187 522,585| 89% 334 408 1,220 551 39 3 16| -113] -346
69 |250kgLLF 0 0 0 0 0 0 0 0
251~300 295 217 67, 836 63,692 74%| 294| 313 1, 065 415 201 1 of -111] -389
301~350 1,652 1,497 509, 896 483,991] 91%| 323] 341 1, 054 460 129 1 24] -104] -329
351~ 229 217 19, 626 79,434 95%| 366/ 367 1,002 451 217 8 26) 87| -240
H &t 2,176 1,931 657, 358 627,117| 89%| 325/ 340 1,048 460| 129 5 25| -102, -332
e - A 29 22 12,679 16% 5176 683] 204 -67 —67
ait 3,955 3,517| 1,307,824 89% 372 683 39 4 =107

¥7H298-30BFEDREILBEBERBEHTIBHERICOZFXRLTIX. SARELTEE IV :-LET,

ROLURERFTR



TH2EE RILURE™IE REHISIER

BR2EE
7 B

15 | g% % BE | A T 1y 8% | BE | mAxL Bl E 5 b
(18%) BM | B &% HE = [E | W& | BEm | W& | @ | mE | Bm | mE | B
cE| FM kel % ke FM m F@| FA| FA @] FA@ M
miLEE (0|EZ [250kel T 0 0 0 0 of o o o o o
251~300 0 0 0 0 of o o o o o0
301~350 0 0 0 0 of o o o o o
351~ 7 6 2,498 2,271 86%| 379 416 1.100] 474] 274] 36| -109] 7 197
EGE 7 6 2,498 2,271] 864 379] 416/ 1,100 474] 274] 36 -109] 7| 197
BT [250kell T 0 0 0 0 of o o o o o
251~300 0 0 0 0 of o o o o o0
301~350 0 0 0 0 of o o o o o
351~ 2 2 840 707) 100% 354 420  1,188| 433] 407] 0 0| -114 185
it &t 2 2 840 707] 100%| 354 4200 1,188] 433] 407] 30/ -13] -84 172

85 - e 0 0 0 of o o0 0

EdbimiEEt 9 8 3,338 89% 417 474|274 132 119
-+ £%  [250kglL T 0 0 0 0 of o o o o o0
251~300 0 0 0 0 of o o o o o0
301~350 0 0 0 0 of o o o o o
351~ 0 0 0 0 of o o o o o
EGE 0 0 0 0 of o o o o o
B3 [250kell T 0 0 0 0 of o o o o o
251~300 0 0 0 0 of o o o o o0
301~350 0 0 0 0 of o o o o o
351~ 0 0 0 0 of o o o o o0
i &t 0 0 0 0 of o o o o o

855 - e 0 0 0 of o o0 0

+ Mgt 0 0 0 of o o 0
&5t =8 [250kgA T 0 0 0 0 o0 o o 0
251~300 0 0 0 0 o0 o o 0
301~350 0 0 0 0 o0 o o 0
351~ 7 6 2, 498 2,271 86%| 379 416  1.100] 474] 274] 36| -109] 7 197
EGE 7 6 2,498 2,271] 864 379] 416/ 1,100 474] 274] 36 -109] 7| 197
B3 [250kgll T 0 0 0 0 oL o o o0
251~300 0 0 0 0 o0 o o 0
301~350 0 0 0 0 o0 o o 0
351~ 2 2 840 707) 100% 354 420  1,188| 433] 407] 0 0| -114 185
i &t 2 2 840 707] 100%| 354 4200 1,188] 433] 407] 30/ -13] -84 172

S0 - e 0 0 0 0 0

&t 9 8 3,338 89% 417 474|274 132 119
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